Name CM

Quiz 9
(no calculators allowed, you may use the transform tables)

1) If x(t)=26(-3), then X(w) is

a) 2u(t—3) b) 2u(w-3) c) 23 d) 2e73? ¢) none of these

) If X (@) =—3%—  then x(t) is
2+ jw

a) te2lu(t) b) —2e7?u(t) c) —2e2u(t)+45(t) d) —2e72'S(t) e) none of these

3) If x(t)=32, then X () is

a) 3\/§e“”2’2 b) 3v27e "8 ¢) 3\/§e“’)2’4 d) none of these

4) If X(w)=sinc(§j, then x(t) is

a) Zirecttﬂj b) irect(ﬂj c) rect[ij d) ireCt[EJ €) none of these
3 27 27 27 2 27 3



5) If x(t) =sinc? (?] then X (o) is

a) gej“’3A(£j b) 2 g ool ZA(EJ c) gej“’gA(ﬁj d) none of these
3 3z 3 3 3 3z

6) If X (w) = sinc(ﬂj , the first nulls (zero points) are at
T

a) w=%1 b)a):i% c) =0 d) w:il e) none of these
T

7) If x(t) = Acos(2t), X (w) will be nonzero

a) forall @ b)forallw=2k, k aninteger c) for =2 only d) for @ =42

8) If we have the transfer function
1

H(s)= (s+2)(s + 20)

the bandwidth of the system is

a) 2rad/sec b) 2Hz c) 20 rad/sec d) 20 Hz e) none of these



